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QUESTION 1

Which three functions are performed by a VSP G1000 Virtual Storage Director (VSD)? (Choose three.) 

A. It executes host I/O requests. 

B. It calculates parity. 

C. It manages cache segment usage. 

D. It moves data to/from cache. 

E. It executes software such as HDP or copy products. 

Correct Answer: ACD 

 

QUESTION 2

How many back-end disk operations are normally required to complete a small block random write operation to a LUN
on a RAID 5 group? 

A. 2 

B. 3 

C. 4 

D. 6 

Correct Answer: C 

 

QUESTION 3

A VSP G800 customer has one HDT pool with three tiers and they report a high frequency of relocations up and down
between Tier 1 and Tier 2, affecting the HDT pool performance. 

Which two actions will help solve the issue? (Choose two.) 

A. Decrease the monitoring period of the HDT pool. 

B. Increase the size of the grey zone between Tier 1 and Tier 2. 

C. Change the HDT pool setting from Period mode to Continuous mode. 

D. Increase the size of Tier 2. 

Correct Answer: CD 

 

QUESTION 4
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Which three key metrics are required for sizing applications? (Choose three.) 

A. cache read hit ratios 

B. IOPS 

C. I/O read/write ratios 

D. number of BED pairs 

E. port speed 

Correct Answer: ABC 

 

QUESTION 5

Which two conditions will cause high Cache Write Pending on a VSP G8000? (Choose two.) 

A. over-utilized external storage 

B. high port utilization 

C. inadequate WAN bandwidth for TrueCopy Asynchronous 

D. attempting to write to a RAID group at a rate beyond its ability 

Correct Answer: AD 
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